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Color the star with the correct answer. Make it shine! 

1) The difference between the place value of 5 and 1 in the number 

3451 is 

  

 

2) The number 4276 rounded off to the nearest 1000 is 

 

 

3) The numeral for the number ‘eight thousand two hundred and 

fifty nine’ is 

 

 

4) In the number 6547, the digit at the ‘thousands’ place is 

 

  

5) The number 6844 rounded off to the nearest 1000 is 
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49 50

 

10 4 

4500

0 

5000 4000 4200 

8259 2859 8295 8529 

6 5 4 7 

6800 6900 6000 7000 
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ANSWERS 

WORKSHEET#8 

1) 49          2) 4000          3) 8259          4) 6          5) 7000 


